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Physics 201 Quiz #9. 21" December 2004.

Student’s Name: '&m D:

Instructions: All answers should be given correct to 3 significant figures.

Q1. An electron trapped in an infinite potential well 250 pm wide, is in its ground
state. How much encrgy must it absorb if it is to jump to the state n = 4?7
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Q2 The table list the quantum numbers for five proposed hydrogen atom states.
Which of them are not possible? Give reason(s) for your answers.

n £ e
(a) 3 2 0
(b) 2 3
(c) 4 3 -4
() 5 5 0
(e) 5 3 -2
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